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Overview of Project:

I wanted to find out which of two snack mixes contained more pumpernickel chips (my absolute favorite snack), so I compared the proportion of pumpernickel chips in a bag of “Gardetto’s” snack mix to the proportion of pumpernickel chips in a bag of the Colorado Nut Company’s “Nibbles & Bits” snack mix.  The proportion of chips in the Gardetto’s bag was higher than the Colorado Nut Company’s.  I performed a two-proportion hypothesis test to see if the difference in proportions was statistically significant.

Variables:

	g = Gardetto’s
	ng = 175
	npcg = 51
	p-hatg = .291
	actual pg = ?

	c = Colorado Nut Co.
	nc = 162
	npcc = 35
	p-hatc = .216
	actual pc = ?

	npc = Number of
	
	
	
	

	pumpernickel chips
	
	
	
	


Hypotheses:

H0:   pg – pc = 0

Ha:   pg – pc = 0 

Calculating the Test Statistic:

Imagine that the “U” represents “g” and that the “L” represents “c” in the following formula.  (Since I copied it from the internet, it is in ‘picture format’, and I was not able to change the letters.)




Statistical Significance:

A z-value of 1.59 corresponds to a p-value of approximately .0548.  

(p = .0548 when z = 1.6)

But since this is a 2-proportion test, the p-value must be doubled: p = .1096

This means that my results are not significant at the p = .05 level.  Thus I cannot reject the null hypothesis.  In other words, the data does not show that Gardetto’s actually puts a larger proportion of pumpernickel chips in its snack mix than the Colorado Nut Company does. 

Question:

1. When counting out the pieces of snack mix, how would you count the broken pieces and/or crumbs? 
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 z = .075 / .04716





 z = 1.59















